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B. Bipartite Blanket
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const int MAXN=21;
int gl1/MAXN|,g2[MAXN|,a[MAXN|,b[MAXN];
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int s[1<<MAXN],vis|1<<MAXN|,bt[1<<MAXN|,1g2/[1<<MAXN];
bool ok|1<<MAXN];
#define lowbit(x) (x&(-x))
vector<int> solve(int *a,int *g,int n
vector<int> ans;
int S=l<<n;
ok =1;
ans.push back ;
_for(i,1,S
ok[il=1;
s[i]=0;
_for(j,0,n
1&(1<<j
ok[il&=0k[i™(1<<j)|;
slil+=aljl;

vis[i|=vis[i”~lowbit(i)||gllg2/lowbit(i ;
ok[il&=(bt[vis[i]|>=bt[i]);

ok|1i

ans.push back(s[i]);

//printf("sd %d\n",1i,s[1]);

ans;

char buf [ MAXN];

int main
int n=read int(),m=read int();
_for(i,0,n
scanf("%s",buf);
_for(j,0,m
buf(ji=="1"
9l[i] |=1<<j;
92[]]|=1<<i;

_for(i,0,n)alil=read int();
_for(i,0,mblil=read int();
int S=1<<MAXN;

_for(i,1,S

bt!i|=bt[i~lowbit (i) +1;
_for(i,0,MAXN

192[1<<i]=i;

vector<int> sl=solvel(a,gl,n);
vector<int> s2=solve(b,g2,m);
sort(sl.begin(),sl.end ;
sort(s2.begin(),s2.end(),greater<int> ;
int t=read int(),pos=0;
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LL ans=0;
int v:sl
pos<s2.size( )&&v+s2[pos|>=t)pos++;
ans+=pos;

enter(ans);

’

D. Dancing Disks
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const int MAXN=4e4+5,N=6;
int dp[N+ N+11;
int dfsl(int r,int c
dplrlic dplirlilcl;
_rep(i,r,N) rep(j,c,N
il=r||j'=c
dpir!icl+=dfsl(i,j);

dplirilcl;
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int a/MAXN|,templ MAXN], temp2 [MAXN|, b[N+ N+
pair<int,int> p[MAXN];
stack<int> st[N+ N+17;
void Move(int rl,int cl,int r2,int c2,int cnt
ri<r2
printf("%sd %d D %d\n",rl,cl,cnt);
rl++;

cl<c?2
printf("s
cl++;

%d R %d\n",rl,cl,cnt);

void dfs2(int r,int c,int n
n==0| | (r==6&&c== ;
_for(i,0,n
templ/i|=temp2/i|=stlri[c!.top();
stirlicl.pop();

Move(r,c,6,6,1);

templ <templ
Move(r,c,6,6,2);

st .push(templ ;
st .push(templ ;

Move(r,c,6,6,1);
Move(r,c,6,6,1);
st .push(templ ;
st .push(templ ;

sort(templ, templ+n);
int lpos=0;
~rep(i,r,N) rep(j,c,N
i==r&&j==cC ;
int rpos=min(lpos+dp(il[j!,n);
_for(k, lpos, rpos
pltempl|[k] | =make pair(i,j);
blillj!=rpos-1lpos;
lpos=rpos;

_for(i,0,n
int r2=p[temp2[1i
Move(r,c,r2,c2,1);

.first,c2=p[temp2|i

.second;
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stir2]/c2].push(temp2/i]);

int i=N;i>=r;i-- int j=N;j>=c;j--
i==r&&j== ;
dfs2(i,j,blil[j]);

int main
int n=read int();
rep(i,1,n

st[1][1 .push(read_int ;
dp[6][6]=1,dp[6][5]=dp[5][6]=2;

dfsl(1,1);
dfs2(1,1,n);
// while(!st[6][6].empty()){
// space(st[6][6].top());
// st[6][6].pop();
// }
0;

J. Jazz Journey
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0000000000000 000000000Do0O0OOoDoO $O0\eft(d\log dyright)$

const LL inf=2e9;
const int MAXN=3e5+5;
map<pair<int,int>,int>mp;

struct Node
int u,v

’

int type;
bool operator < (const Node &b)const
ul=b.u

’

u<b.u;
vi=b.v
v<b.v;

type<b.type;

map<Node,LL> cost;
vector<int> c|[MAXN];

int alMAXN
LL ans;

.
’

void solve(int id,int u,int v
LL wl,w2,w3,w4;

int cnt
wl=cost

w2=cost.

w3=cost.
w4=cost.
wl=min(wl,w2);
w3=min(w3,w4);

- ’ ’
.count(Node{u,v, ?cost[Node{u,v, :inf;
count(Node{u,v, ?cost[Node{u,v, :inf;
count(Node{v,u, ?cost[Node{v,u, :inf;
count (Node{v,u, ?cost[Node{v,u, :inf;

int t:clid
cnt
wd==min(w2,w4)&E&wd<w3+wl
ans+=w4;
cnt --;
cnt ++;
cnt ++;
cnt
w2==min(w2,w4)&E&w2<wl+w3
ans+=w2;
cnt --;
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cnt ++

cnt ++;

int tt=min(cnt ,cnt ;
w2!=min(w2,w4)&&w2<wl+w3
ans+=1LL*tt*w2;
cnt -=tt;
cnt -=tt;

wd!=min(w2,w4)&&wd<w3+wl
ans+=1LL*tt*w4;
cnt -=tt;
cnt -=tt;

ans+=1LL*cnt *wl+1llLL*cnt *w3;

int main
int n=read int(),d=read int();
_for(i,0,d)alil=read int();
_for(i,1,d
int x=ali-1],y=alil;
X>y)swap(x,y);
mp.find (make pair(x,y))==mp.end
int t=mp.size();
mp/make pair(x,y)=t;

c/mp/make pair(x,y .push _back(ali-

int m=read int();
~_for(i,0,m
int u=read _int(),v=read int();
char type=get char();
LL w=read int();
Node t;
type=="0"
t=Node{u,v,0};

t=Node{u,v,1};
cost.find(t)==cost.end

cost[t]=inf;

cost/t]=min(cost[t],w);

map<pair<int,int>,int>::iterator
iter=mp.begin();iter!=mp.end();iter++
pair<int,int> temp=iter->first;

solve(iter->second,temp.first,temp.second);

enter(ans);

>ali
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L. Lost Logic
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const int MAXN=55;
int a MAXN!,b ;
vector<int> ¢ ;
vector<pair<int,int> =>ans;
int main
int n=read_int();
_for(i,0,3) rep(j,1,n
alilljl=read int();
_rep(i,1,n
cla i]]l[a illla i]].push back(i);
vector<int> var;
_for(i,0,2) for(j,0,2) for(k,0,

c[i][j]l[k].size()== ;
1==j&&i==k
int t:cli][j][k
ji==

ans.push back(make pair(t,t+n));

ans.push back(make pair(t+n,t));
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int head=*c[il[j][k].begin();
int t:cli][j][k
t==head ;
ans.push back(make pair(head,t));
ans.push back(make pair(head+n,t+n

_for(i,0,2) for(j,0,
1==0&&]== ;
C illjl.size()&&c 1il[!j].size
int tl=*c i][j].begin();
int t2=*c 1il[!'j].begin();

ans.push back(make pair(tl,t2+n));
ans.push back(make pair(tl+n,t2));

C illjl.size
var.push back(*c il[j].begin ;
C 1i][1j].size
var.push back(*c 'i][!'j].begin ;

var.size()<
var.size()==
int tl=var ,t2=var ;

int dl=2-a tl]-a tl]-a tl],d2=2-a

ans.push back(make pair(tl+(1-dl)*n,t2+d2*n

enter(ans.size ;
pair<int,int> t:ans
t.first>n
t.first-=n;
putchar('!");

printf("x%sd -> ",t.first);
t.second>n
t.second-=n;
putchar('!");

printf("x%d\n",t.second);

puts("-1");

’
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